TEMRE (HEBIERE) (D) 44, 620, 000
FHAE AR (HEBIBRE) 35,510, 000
ARLFE (BAEFHMEFLSRN NEX) )
1. # 4 3 OAFEE HREMEEE AER B B (5124 SN [EE TR EMEORE K4 KB gt [/
XX HAT B
2. FURFBET = EN)EE ST
VA | B4 ZENJIEEFGIREREER R4 HE 7 A
3. AL B  E304 4H 6H 11K30%
- %51 I %2 [[] % 3
E=:24 @“ NFLATIASE %1 filiks 5. (C) R NFLATIASE %1 filiks 5. (C) R NFLATIASE %1 filiks 5. (C) S i 2
(B) 30X {1-(B) /(D) } 0 + (© (B) 30x {1-(B)/ (D)} 0 + (© (B) 30X {1-(B)/ (D)} » + ©
Bf) =2—Yxv” - 44,970, 000 - - - - - - - -
_ _ _ _ _ _ %
(BR) BEXR 55 35,510, 000 6.125 61.125 (ER30%F 4A118)
vy bGP LE LN (BR) 53 35,510, 000 6.125 59. 125 - - - - - -
PHARRa YL N (BR) 51 35,510, 000 6.125 57.125 - - - - - -
KHavHLZL b (R 54 35,510, 000 6.125 60. 125 - - - - - -
BFIERE () 52 35, 510, 000 6.125 58. 125 - - - - - —
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SEEONR (REFFMEZEFLFR)
TRI0FE P EMERFMRTES
BfTiR = FRATHER M ETfE
EXEIE (BIiTE)
EXFE®RHE) RiffR=E
- HRE e as
INEE IR E Nt INEE BT ST B R A st
E BEXITLH (A) (B) P (C) ReEiRE INEF (A)+(B)+(C)
RIS RIS HTEER e vk o (B) | (AH=(©)x
EBHE | BRRBO | EBA | BAELS EBRM | EBAR )3 (E)
aE) DIEE) (BREH)
2 2 0 10 3 10 2 20 15 15 30 1.00 30.0000 | 60.0000
(H=1—Tzvy 2 2 - 10 3 7 - 15 15 9 24 1.00 24.0000 -

(HRK 2 2 - 9 3 8 - 16 15 15 30 1.00 30.0000 55.0000
EURSLAVH LAY M) 2 2 - 10 3 7 1 16 15 12 27 1.00 27.0000 53.0000
KEIVHILEU R 2 2 - 10 3 7 2 17 15 12 27 1.00 27.0000 54.0000
RFIRET(HR) 1 2 - 8 3 7 2 17 15 12 27 1.00 27.0000 52.0000
Gy TRBT LS - 2 - 7 3 8 1 17 15 | 12 27 | 1.00 | 27.0000 | 51.0000




